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1. (20) A tank with a fixed volume of 2 m3 contains a calorically imperfect ideal gas whose
specific heat is

cv(T ) = cvo + αT + βT 2.

Here, T is the absolute temperature, and cvo = 1.05 kJ/(kg K), α = −3.65×10−4 kJ/(kg K2),
and β = 8.5× 10−7 kJ/(kg K3) . The specific volume of the gas is 0.8 m3/kg. Calculate how
much heat needs to be added to the gas to bring it from T1 = 300 K to T2 = 400 K.

2. (30) A tank with a volume of 0.85 m3 initially contains water as a two-phase liquid-vapor
mixture at 260◦C and a quality of 0.7. Saturated water vapor at 260◦C is slowly withdrawn
through a valve at the top of the tank. At the same time, heat is added to the water to
maintain the temperature inside the tank to be constant. This continues until the tank is
filled with saturated vapor at 260◦C. Assume that we can ignore changes in kinetic energy
and potential energy.

(a) Determine the initial specific volume, mass and specific internal energy of the water in
the tank. (7)

(b) Determine the specific enthalpy of the water vapor withdrawn through the valve. (7)

(c) Determine the final pressure, specific internal energy and mass of the water in the tank.
(7)

(d) Determine the amount of heat transferred to the tank. (9)

See next page for Problem 3!
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3. (50) In a solar tower system, mirrors are used to focus sunlight to a tower in which the
working fluid is heated to high temperatures (see Fig. 1). The tower system functions as the
boiler used in conventional Rankine cycles. This solar tower is incorporated into a Rankine
cycle to generate electricity as shown in Fig. 1. The Rankine cycle utilizes water, with a mass
flow rate of 25 kg/s. Some properties are listed in Table 1. Assume steady-state and that
the changes in kinetic energy and potential energy are negligible.

Figure 1: A solar energy-based Rankine cycle.

Table 1: Thermodynamic properties at different states in the cycle

State 1 1a 2 2a 3 4

P (kPa) 6000 5000 5000 5000 10
T (◦C) 20 500 40

h(kJ/kg) 3422
x 0.95 0

(a) If the pump is adiabatic, what is the specific enthalpy and temperature at state 1? (10)

(b) In the pipeline from the pump to the tower (1-1a), there is a heat loss. What is the rate
of the heat transfer loss along this pipe? (6)

(c) What is the rate of heat transfer to the working fluid inside the solar tower? (7)

(d) What is the power output from the turbine which functions adiabatically? (6)

(e) Assume that the cooling water in the condenser comes from a lake at 12◦C and returns
at 25◦C. Determine the rate of heat transfer in the condenser and the mass flow rate of
the cooling water from the lake. (8)

(f) What is the overall thermal efficiency? What is theoretical maximum possible efficiency
of this cycle? (8)

(g) Assume that the solar radiation energy flux is 1366 W/m2, and the solar-to-heat conver-
sion efficiency of this solar tower system is 90%. How large an area of mirrors is needed
to power this Rankine cycle? (note: efficiency is defined as the ratio of what you want
and what you paid for). (5)
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